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Q. L. A. Fill in the blanks with suitable options. (Any Elght)'

1)

2)

3)

4)

5)

6)

7

&N R ER

‘ .Apprdlsaf fmerview

" Skype
Gmnp Qomm unication i) Group Discussion

AR .y oo menies provides written intimation abqut thg date t;ms aﬂgi vemze of . s

‘\ of '\ a ’ 4 2 ~ X
a business meeting, -5'-;-‘ D el o0 3

(Notice / Resolution / Agenda) = 3
A Structured Interviewis ............ ek 2
(pre — planned / unplanned / plamwdem ths spot) '
............ are based on the ﬁm:lmgsof‘ a Busmess Repon

(Recommendations / Terms of Referenoe / Summary)
The primary objective Qf' a;lw' oy
candidate for the JOb C{& e
Conferences provfdcfa m]uable base for

(Semmars/Comrﬁi’naes?f‘&ymposm) /9

Business m&&tmgs ha\fe a/aJr
(indefinite Lnd s ﬁqu) , 3 :
A Group»lgﬂﬁ;g\;h;r‘is*snmlar to,,a ..... (Grouﬁxﬁgscussmn / Panel
Inte!;vtﬁ\; igtrt\tctiared Intervlewj ,_‘ ;;“"'
) Suggestiqr?Sehemés are an example of :_?_, o ‘Communication.

‘{,Uﬁwafd / Dﬁwt}Ward v £lgzag)

(need based / choice based / quality based)

(07)

‘.’a) Vote of Thanks

T b) Review of Performance

c) Open House

d) Outgoing Employee

e) Give Latest Developments
)] Proposal

g2) Exchange of Views

h) Discounts

) Video Chat
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\

How should a candidate prepare himself for a Job Inteme:w'?\‘ S 207
List and explain the factors that must be considered to oigamze R
a successful conference. T (08

OR
What is a Grievance Interview? Why should: 1t~he cohdm‘ted‘?
Define Public Relations. List and explamﬁny &e measgg‘gs‘tq
promote the external Public Relations ofahmgh@zﬁtwm

for its classrooms. Draft a Lettct«qf{neghtf ddres M L to

Mart asking for a price-list a.gd\caﬁaiuguedf,l se. the Com};tle’te Block
layout. - / > A j" S
Mr. Gupta bought two @ezen ﬁ'mt d?ink s‘ans frem Super I Bazar
On checking the cans af homeMr Gupta reahie:f jh_affhe ehas
sold to him were 20.,&505;;;& ﬂleu‘ ekpiry da];g Dm‘ﬁ a.{.»,etiter of
Complaint on l'us bl:hhlf Usei" :

N _ ,._'\.
: \“ J

- ‘,‘:\ 3 Ty - Y y
Draft an Invgpixga;xva Repo r thh.recgmmendatmns abentt:he
unhyglemg,%eﬁdﬁlpnk m the cahtpen‘nf W&)ndef" Wqﬂgs P-vt. Ltd,

Chembu, Mur . (10)
Draft lhtﬂ@g@éﬂt}d Agghda fbr thg
oéﬁixeumpﬂters, Worh, Mumbat,.\ (05)

~\

etter tb pmmﬁte a ‘Vedfc Matt& a.nd Abacus Center’.
ﬁsé ﬂwsem;‘mqék layaut S

(07)

L

dﬁq&gnnch\éd 011 Charges of nompayment This has happened
%tmﬁ@usemw month: Braﬁ a letter on his behalf

i

ed mﬁatmsmer Redressal Forum seeking compensatlon |
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D. Summarize the following passage: Ve (08)
The educational philosophy of Swami Vivekananda: is a hamwruous
synthesis between the ancient Indian ideals and modem Westem belwfs

"spmtua] and vbcatlénal

>

He not only stressed upon the physical, mental, mora

development of the child, but also advoaatéd worgen’k educatxbn as well as ¥,

education of the masses. The essenhai cfmractafmtms of the\ educatlonal 3
philosophy of Swami Vivekananda areiaeahsm nawrahénrrand pragmatlsm ;
From a naturalist view point, he emphﬂsded that'p'eal educatxonfis possnble only‘; '
through nature and natural pro?penames -Frdum an Ideallst v:ew p&int; hc msnsted
that the aim of educat:onﬁwas to- develop tha chlld’ Wl@h m,oral ar.ld spu‘itual
qualities. From a pragmapst Waew pmn’t he emphasmeq thc need for Westem
9 education of technolbgy,k cqmmerce detstryvand scxem:e to achleve material
prosperity. In shﬁrt ﬁrsg hc emphasmeﬁ spmtua[ develépment, then natural

propensity, aft’el that shﬂ:ty\of hfe and then solvmg fhe prnblems of food and
clothing ofﬁi&mﬁssésv‘- T

Swamj V“ve‘lean&mfa censidered women to bé the iicarnation of power. He
rlgﬁtly“:gm'ipi dut*that unless Indian women set:uf'e a respectable place in this
cmm#ry 'he *mgtion can never move for‘“wwd “The important features of his
>, ‘{eirafe_male eﬂucanon are, “Make wvmen strong, fearless and conscious

Gﬁas;tityﬂand dngm’t’y” He msmted that men and women are equally

Iﬁpotcnt_ g@ ohlym the academ:c matters but also in other spheres of life.

"¢ Swsimzv.iv‘e;kﬁnahda Bemg a keen observer could distinguish the difference in
2 ,wm é\bout thc statusmf women in the West and in India. “The ideal

,\wamanin India 18 :mother amother first, and a mother last” he declared.

A ) ‘-<‘ 7

(15)

2 ":\‘_ijole of’ a Ghairperson in a Business Meeting
Appraiéal Interview
A ldcg(:onferencmg

B 3 ,,'.

._-J-' uncﬁohs of the Public Relations Department of an Organization
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Time: 2 % hours

Note: 1) All Questions are compulsory. FR T
2) Figure to the right indicates full mA;ﬁs; o

1.A Choose the correct alternatives (any eight)

(i) means integrating the national ecom k o
(Globalisation, Privatisation, Soc:alxsanon) : g

: \--
A ‘~5*. e

s éith b§ bg)qng' th‘a.‘-

(ii) farming is undertaken by Iarge ﬁ
ortaking land on lease basis.

(Corporate, Contract, Mutual)

(iii) Human Rights have
(Social, Political, Universal) .

(iv) The General Assembly qﬂ

) grmes &msgﬂaqdmak“_ ﬂﬁ&‘ul
(Deforestano%ﬁehqmﬁcmog, soilierosion)

Wbﬁmﬁ@g@agﬁﬁg &y
{(S@(eogypé‘gy%tbtyp\csg Socwtyp%)

' \.néeds lie,;at tha highest level of the hierarchy of Maslow’s Need

o -._: T - y \ .
BT ;::\ \B"Stgté,whetﬁ.}xép‘?kgé staﬁ:ment is True or False (7)
PO AT S0

)5 Brain Pﬂidh,j% a positive impact of globalisation.
N m;ngigm‘t;mn means moving into a new country.
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(iiiy  The UDHR consists of 28 articles. R NSRS
(iv)  Writ can be issued only by Supreme Court. T LSRN
(v)  Abiotic components are non-living compound and physl_phl elé}nents m the»
environment.
(vi)  Atmosphere regulates the global temperature. ¥
(vii)  Environmental factors are only factor causing strﬁ:s.r
(viii)  Eustress are also known as negative stress.
(ix) Maslow’s theory is on Human Motivation.

()

2. Discuss the concept of privatisation. nghhght the wrmgages‘_ !
privatisation. A

3. Discuss the civil, political andei:@nmm&n : UDHR, SO (15)

OR .
Explain the concept dfh ati’”rights What are - the im 1 :pb
development of motfﬁﬁmmﬁt nghts?

o =

m ﬂnt'? DLQGUSS the basw comgonents of Sustainable

®
L
B
Q. 2z
‘ gowf,&ﬁnerahsausn £,
(d;,g;}?ﬁm' 'éias‘agen‘t of SQﬁaIlsanon %
: ©) Impo f\?ahl.es in society SN
‘ ¥ sk ok ok ok ok ok ok ok ok ok okok :"_- :
FPos
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Q P Code 08061

AT [ Marks~75]

[Time: 2l Hours]
Please check whether you have got the right quesﬂon paper
N.B: 1. All questions are compulsory. P ER
‘a1 A State TRUE or FALSE - Answer (any 08) : FIRTEGE AT A 8
1 In personal selling, seller and buyer come in direct contact wifh oné anuther '
2 Product research relates to manufacturing and marketl_ng of the prqd_uct.. )
3 Zero level channel of distribution has numerous middlem,en."_-F‘ Y l
4 Firms have better control on micro environment than‘.macro : % >
5  Geographic segmentation includes vanables such as reglqn cmes 8nd statés £
6 Legislations are a part of Political envuronment : &
7  Government Policy is not a controllable market{ng fat.‘tor <y
8  Decline stage is the first stage in Product life Cytle :
9  Skimming Pricing involves selling at Iow pnr:_e .lhltiﬂ!_!y !
10 Brand helps to identify opq producf from the other, :
B Match the followrngu MAn;wer (any 07) ; s 7
a) Social Factors % _ﬁ d ; i) Facesook
b) Irregular ngand | | ‘.‘/ o S ii} Psycho!oglcaf Factors
c) PEST R \1‘- . |ii) Prot{ucﬂon Concept
d) LOSD 3B | I iv) Prqmotion
e) Focuses 6n'\;olurhe 6t Producticm ) v) Crzrtomer Satisfaction
& f) CRM P 5 . vi) Environmental Scanning
o __ 8) Attducle 8o , ., r vii) Place Mix O
7 \o h} qu%n&&ﬁebate ST viii) Reference Groups
S S I);‘Sac\af’Media Markefmg : ix) Brand
3 ‘\ j} Dlst:ibl.(ﬁqn Ghai‘mel x) Seasonal Demand
Q 2 a W_hatﬂa vpu mean b\rmar”ketlng? Explain the features of marketing 8
E b Explal;rfr& &és of markerrng 7
: DisduSS hpw martemng has evoived from exchangglz)rocess to holistic marketing. 8
& v Hrghltghg rhe&:ffémneb between marketing and selling. 74

823882DC6969BD73E8DDAA7F6F 729E7F



Q.3

Discuss the elements of macro environment of business.

Explain the factors affecting consumer behavior.
OR

What is Marketing Information System (MIS)? Expl aiE“l‘t & i

What is consumer research? Explain the need for cotisum

Discuss the levels of a product .,’..",.

Explain the role and importance of packagiﬁgln markeﬂng products

What is a distribution channel? Suggesf,» Stu:able dtstribuiclun-channe! for the fbllowmg
products:
i, Cheese
ii. Laptop
iii. School bags

Discuss the objectives of.pri

What is e- marketing?ﬁplilnth& Hmitations af e

e A X

Discuss the neeﬂ“anﬂ sfgui“ﬁeﬁhi:eof Relatmmhtp Matketlhg

1. Segm&ﬂmm : -
i Ad%ﬁtﬁﬁ"g;*oﬁrﬁérﬁbﬂ\&arkeﬁng
" : ké & )

£
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Q.P. Code :31979

o ).

[hoe: 2 Hours] | OSSO0 000 Marlo i8]

Please check whether you have got the ri ght queat:on paper

All questions are compulsory
In Q.1 attempt both the sub-parts A&B.

Figures to the right indicate marks. ==~ " ~ RS 3, i’ 4

N.B:

ol b

Use of non-programmable caiculator 1saJlOWGd ‘" X

21 Attempt both subparts A& B:

(A) Write the appropriate answer (Any Eight): RO : S e 08

1. Given, Principal = Rs.1500, Number of years=3, Interest=Rs.225, then the rate of Simple
Interest will be: DRGSR SR S P
‘ i 3 %opa e T ) T i
ii. 4 %pa 3 S O A
iii. 5 Yopa R PAY  i
iv. 6 %pa e

2. The point of no pnﬂ’ﬁtnalnss is kno'wn as A,
i Equator e Y S
ii. BreakEVen’Pmm .
ii.  Nullpoint 2R o g e
iv. Vahablg pmnt

3. The msmber of ways in whach 3 b0ys and 4 g1rls can be arranged in a row so that all the
threé boys are’ ¢0$Bmer are '
3]~:g S IR

.{-.”(

*w Norre of tha abOVe

f.x

L 2

4 AquuatEmétm{ whose determmants is zero is called:
s S o Singilar s :
N u 'Non sing‘uLax
i m Scalar,, S
I@emii '

5 For mair"ix m"tﬂflphcatlon, the number of Columns of first matrix should be
numbei' a’F rows of Seccncl Matrix:

R Mgmthanjp
NP w ~~ Square of

(I DI Page 1of4
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Q.P. che_-:3197'9 BN ) 4

6. The determinant value, of a 2x2 matrix, and its transpose are : Q3 j

i. the same DA < SEAAEOR

ii. never the same LA I 7 Ay 3 L

iii. 2 Dimensional % o 4

iv. 3 Dimensional 3
7. The derivative of x? log x Ry A

i. x%logx RPN :

ii. 1+ 2 logx ooy .

iii.  2logx SR SR TN P

iv. None of the above gt jw eI A ; 25 (

8. The extra revenue that an additional unit of a p:bdudt wﬂl eam is called
i Conditional Revenue ! N ol
ii. Marginal Revenue ,
iii. Elastic Revenue ,_{ 3
iv. Average Revenue |~

9. The pre-condition in the method éf: ﬁmte dlffereﬁces is that valms of the arguments are :
& equidistant " 2" .5 5 A
il. non equxdlst;mt
iii. logarithmic-
iv. exponenna'l«‘

A

.\

10. While ﬁndihg th“e dlﬁ‘erence of i sudcesswe entnes in the forward difference table, the
upper numba: is a.lways : thé lbwest number
K addedto vyl ; VS
ii. subh'acted fxom ’
ii; - divided from -
VO multlﬁhed to

(B) Match the co}umns (Answer Any Seven)

: colmnnA‘“ R o VA column B
Fhe-¢ SlﬁkmgFuhd B a)-"-_ ~Demand>Supply
“ii. | Scalar Matrix ')"_';l' ' o|:b) | When a matrix is equal to its transpose
i Stailon&rmeht S | ¢) | maxima
“Liv ['Equilibrium Pomi -1 d) | Total Revenue/Total Quantity 8
o [V ] Idenitity Matrix . ".-',;1” e | A s
i fPR)<0at ennc_alem | D | Point at which dy/dx=0 |
- |.vii | Forward difference’ operator g) | Neither maxima nor minima :
[ vidi - AVeragE Rev«snue h) | Type of annuity that can be used to 5 |
o Qw5 : replace a depreciating asset ' 3
% Point ofIriﬂectzOn i) [A Al ‘
{X " | Symnietric' Matrix Demand = Supply 7
S B k) | When a matrix is equal to its inverse k
R SR -
5 AP 30 —
N DA ’ [o 3] 3
A S Page 2 of 4 3
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Q2 A

e

Q.2

; Fmd by AdJ{)mt mcthod thB mvgrse ofA

Q.P. Code 31979 Bt

Mr. Valia invested some money at a certain rate of simple mterési per annum \The tt)tal amnunts

received by him were Rs.7654.4 in 2 years and Rs.7948.8 1m4 years fespectlvely Fmd the o0
principal and the rate of simple interest. : i &N

0._3

A manufacturer has invested Rs.30,000 as fixed cost and a varla.b}e cost. cxj' Rs 20 pe“r unit for AN _ﬁ’J’

production of toys. 1f each toy can be sold at Rs.40. fm& the Cost ﬂmmon Revenue Functmn and

Profit Function. Also find the number of toys to be proﬂuggd to hchleve the Break Event pomt ~
OR

Find the amount at the end of one year of an armuity of RS 509 payabie quarterly, rate of' mteresf

being 16% p.a. g : . @ :

08

. The staff of a department consists of a munﬂget, an ofﬁder ami lQ, clerks A commxttéepof’ 4 tobe 07

selected from this department. Find tbe mln’:her of Ways m whlcﬁ tl‘ns ean be dcne o as to always
include: L AN e )

i; the Manager A WA Ay E & o e
ii.  the Manager but not the oﬁieer CRP S CESTES T
(i) Find mamx X 1f : 08
y = ] t1216+f [ }
(i)  Find matr1ces~XandY1f LR Rchopodh
xe v =[2 W and x-y = [g g O
Solve the followmg equaﬁons usmgbramer 5 Rule‘ PSRN 07
x+y+z-7= TR,
x+2y+3z=16 ——-Q:,
x+ 3y + 42 22 0 _
- _,.,-NN',,;«, ' 08

2 4
7.2 3
5 9

V‘,,

Fbrthe followmg 2 1ndﬂat?y<1ﬁput output model, find Technology matrix. Also calculate the level 07

of output, if’ ﬁhal demaﬁd of éach producl increases by 60 units. Further find the labor requirement
for thxs autput :

: ‘Ind_ustry--ﬁ ; ansumptfbn oflndustry Final Total
50 SR TR C MO S 2 Demand | output
125 2% 120 130 150 400
S S R 180 200 500

<[ Labour ] 80 200
Page 3 of 4
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QP. Codi 319795 1 S

Q.4 A A company produces X items at a total cost of Rs. (70 + 2x). The dc?xgandfunctmn i P=100-x,

where P is the price and x is the demand. Find the value of x for which: -
i. Total Revenue is increasing A O A S :
ii. Total Profit is increasing. > o7

B Applying Newton’s Backward Interpolation Formula, optgiﬁ a pﬁlyngnpal_ functid_n to fit the

following data:
X 30 |35 |40 |45
y=f(x) |38 [30 |24 20

Ty 2

=.

OR Sl

Using derivatives, divide 30 into two parts 50 thiat their product is maximum, = oS
A farmer noted the following figure for the quantity of fertilizer (in kg) used on his plot of land
and the yield (in kg) of wheat from the O e St R AR ]
Fertilizer (kg) 2 39185
Yield (kg) 24 |32 1320k« IS AR ety onr ey
Applying Newton’s Forward Intecpolation Formula, déterming the optimuni amount of fertilizer
for the plot and the maximum yield expected. VGO RN

p"d

Q.5 A) A manufacturer cansel]x ﬁiiéfné_ pe_}riftmhtﬁ at & pricep=200-2x The cost of production is

given by C=2x + }20(3 F_i@dfthé Average Profit'and the matginal profit when x=10.

B) Ms. Agarwal hasfalf‘eﬁa Loan of Rsll ;'OOOLQt ld%:p'fa'. \tt‘)buy ébld ornaments. If the

amount is to be retuined in 6 monthly installments; find the EMI she has to pay. Also

prepare the amortization table for the first 2 months. .~
C) Attemptany 37 "« o AN
1. Explain‘the difference between Permutations and Combinations.
25 Wit]’i@h,;,eﬁglgjplé,ie)tplgih Upper Triangular Matrix, Lower Triangular Matrix and
el Pl MAT ¢+
3. ‘State and explain any two properties of determinants.

4. Writé a'short hote on Price Elasieity of Demand.
) 9 ".E?;plgin'_.thé?igﬁﬁananée_of Business'.-Mathematics in Management.

DY 3 Sy e o e ok o ok ok o ook ok
3 7 N
S ',"
‘. R .s‘- &
;\.’- .
‘ 2
&
&
D Page 4 of 4
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[YBMS 3%¢m-T1]

Duration: 2 1/2 hours

NOTE: i. All questions are compulsory. 5
ii.Figures to the right indicate full niq}'ks“k_., D o,
iii.Draw neat and clean dlagramhwhcmvef necessa ok &
Q] a. Maich the Column (Any 8) -~\ *\\ DL ASR “"f}'* 8
1) Inherited business f a Aldxtqw-f;adc uw»z"}f.j ; ) et
2) Banking ' b Intetnal chvjmnmem £ A;' L
3) Co-operative organization -~ . < c. Extemal mwrb ?:nmbnmcnt- >
4) Vision, mission ;;ﬁ.‘ T_\.ﬁ @ d 1969 o S M
5) Distributors P e C»Agjtahsm WO &
6) Demographics . :‘i f Joint Hindu Famtl)[
7 MRTP Act ¢ 8 St 1 & M&Exﬁemalmacro envxr@nmcm
8) LesseLgovemmeﬁtrggyiati’bn ) h Ren“dcﬁnL;mcé
9) Private Ownqrship g _;-" ’:‘.;. ¢ Liberahsatmn o
10) Domma"n‘t«t)ue partyﬁystﬁm G P Cuba oA ;:-' '
% .uﬂ,k_\‘ x' o7 g o & J""' ’
b. State whether fhe féﬂaw;ngsnatements aré. true ar false (Any 7 7

D Poht:eal mcettamtjr& ecbnomnc prosperity go tbgether
2) Corﬁeratc som" -?espdnsibihty makes secnal gmnps sﬁtnsﬁed
3) ,;GATT Wa&rpp]aced hnyTO ‘
4) 2 ‘NINC cheate bram d:ain m thc hOSt countnes
5) CSR prﬁpﬁ‘gates unf:imtradc pracn(:es <
) Honaigy & Imegr:ity 'havc mﬂm pact of’busmess
: N?): Somal“audlt dq:tg[m{neﬁ somal performance
1 8) ~ Culturh] factors have 70 1mpaxi?t mn business
7‘9) Acco:d:mg faMichael Porter ct)mpetlt:on in an industry is influenced by two factors.
- 10) Thé l:ua.nli«i‘itfqa seciot has emerged as a sunrise sector in the Indian economy.

‘4’.

Page 1of 2
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Q2

Q2

Q3

Q3

Q4

Q4

Q5

Q5.

&

=x

OR
Discuss in detail the nature of business,
Write a detailed note on Socialism.

Discuss in detail the political institutions in Im:ha
“Joint sector helps in the growth of economy" E:Epiam 2

\portance fer businessp
What are the basic factors mﬂnenélmﬁbrgorate gQVemance

Explain the impact of te@hnblw on business; .~ - S S
Discuss competitive wategf ﬁtfmnﬁ‘usuﬂ y a_pﬁlf tb sfa‘y‘ lgrbﬁsme'ss.

Exportmg as a toal m entgr f’ore:
Descnbe bhefly tﬁﬁ ob}ecn\{es and functrons of W’[‘OL

VA

gn market

qvmousﬂﬂaﬁg,érs bf‘MNCs tq devalogmg colmtry
EXplm ihavfuhq‘tmﬂ RFDI lh déveloping muntncs 7

X Types of In;iuﬁtxy.\
Jo"mt Hmdu:-

Page 2 of 2
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,

FUBms Sem-IC

CQPicode3izal

[Time: 2 ZHours |

Please check whether you have got the right questlon @apef X
N.B: 1. All questions are compulsory subject to internal chmce el
2. All questions carry equal marks. = o AL

Q1 (A) Fill in the blanks choosing the correct"aiterna

1. Management is a science. !
(a) physical (b) social 7 g %
2. skills refers to the ab111ty of a rnanag' h1s i
subordinates. Y
(a) technical (b) conceptual g :
3. is known as the father of Sczlentlflc managemem o
(a) F W Taylor (b) Hénry F‘ayol (&) Peter Drucker
4. Programmed decisions are on: VR o problems PSS
(a) rare b petltlve (c) fu»(ed;-’i\”‘_:~

wr 5. A prescnbes the

S’E;'-_t;me when eat:h of the series Df action
should take place. Pneiel

(a) project AL bﬁdget A (c) schedule
6. orgamzatmn 1s the Idest and the su'nplest fOrm of organization
structure. AR »-” VO as o R R g
(a) line Qs < (b) fu TENES [c) matrix
7. In the matrix orgamzatlon, the'em 3 ’
authority. FO 0 o
(a) single SO (b) dual : (c) triple
8. theor related to, span ‘of. c:ontrol.
(a) Graicunas:". (B). managcrlal gr1d g (c) game
9. Corrective actmn 1s one of the steps in’ _“process.
(a) plannmg 3 (b} control. EEF (c) direction
10. : leader ets thmgs done by putting pressure on the workers.
(b). paternallsnc (b) democratlc (c) neurocratic
Q1(B) State whether the following statements are True or False.
- (Any 8) (8)
15 Management 1sxwhat management does
2. Professionals-do not require: expert knowledge and skills.
3. Planningis- the. secondary function of management.
4. Mission' pomts out behefs and philosophy of the management.
5. Rules are rigid ¢ and demand a specific action.
6. Formal organlzatlon s‘pi‘eads rumours.
74 Span of control means the number of subordinates that can be managed
by the managers.. = -
8. Linhe managers. argue that the staff managers do not supply relevant

information quickly.
9. Situational leader combmes traits of all types of leaders.
10 A leader mﬂuences people to achieve their objectives.

Page 1 0f 2

E482640C228046FB5591 EEF2A77D3D67




Q2(A) Is management an art? [llustrate your answer.

Q2(B) Explain any seven principles of management y"';cﬁ by

OR SRS NS E TS T
Q2(C) Explain the managerial grid theory. S T A L8 SEBFSY
Q2(D) What are the levels of management? Explain the 'fu:gé‘;t;.io;;—s;;qt: each level. R
‘x"L o ("}" . 0 2 l, i A “s L’Z)‘:“\:f \
Q3(A) Outline the main advantages of p_lannin"g.; 7 S T B g
Q3(B) Briefly explain the concept of MBO» = . s oyttt ol va Waras

Q3(C) Explain the importance of decision making: . -
Q3(D) Describe any four techniques of 1 ﬁgcl.smnmaking
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Q4(A) Discuss the merits and dcmeft\tescfqurm‘aloémgisat;&l i (8)
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Q4(B) Bring out the importance of departmen!
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centralisation and decentralisation, .~ (&)

Q4(C) Distinguish between

Q4(D) Explain the pr1n01plcg§ﬁf:gffeehve ‘d lsgatxonof aﬂth onty )
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Q5(B) What are the qua-}'it,iéf&?&g;gdg&#eéd S S
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(a) POSDCORB & ¢ " 0 B ef Il v o L
(b) Factors affet! ‘ng‘spanof contm1~

(c) Co-ordination: . .
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Q3 Wt

Pupms sem-AL

- Q.P. Code: 31025

Duration: 2 2 hrs P A Marks 75_‘

Note: All questions are compulsory

Q.1. a. Fill in the blanks: (Any 8) P Vet & ()
1. The central government may constitute one or more___ RS

industrial dispute involving questions of national impﬂ;_'tﬁ;’x_ég]( fo S A

Lay off compensation is to be paid @ of the.average wages. 2y >

Every registered Trade Union has a stiegession. gt

Artificial humidification is a provisien ‘undef'the-fée_'tc:)ri‘es act, CND N o S

A workman under workmen’s compensation act is not liable for ;ompenéaﬁon,z,if‘at the time of

accident he was under influence of o At O LEEEX FRFFIOLS

6. Benefit is paid to the eldest surviving member of the Family of insured person under
the ESI Act. FEE o TR IS ST R AATA DR

The employees Provident Fund n\g&i;éx_  invested in A S bonds. &

Fine should not be imposed on an)?‘employeewho is under the-age of S0 yelrs:

In case of death of an employéé.fiisf e g "_sis;_erit_itlédgtb- get the bonus due fo the employee.
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10. Employee in a seasonal establishment will get g‘ran‘iix)};at_-tﬁe @of .~ days wages for each

season.
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Q.1b. True or False: (Any s €5 S 8 0 8
Extraction of salt from sea water isa factory. -~ ", RIS

A police officerisa workinan under Industriak disputes act. -

Closure meayis ferporary closing down of the place of employment.

Role of a trade uf}ronlgitﬁ secure fair wages to farWhﬂ_fﬁGts:--

If there are 100numbers of employees, then employer has to provide a canteen.

Parti a{.‘&ﬁgﬁlgifpgﬁﬁme‘@ﬁs where disablement is of a permanent nature.

Martidge is a précondition for maternity benefit. .~

8. The provident Fund contribution as a % of wages is 12% of salary.

9. Wagsdoesmvt include any bonus payable under the terms of employment.
‘ ln.Sp;tﬁ'thms]de pittoons _is,ciffencé"bUniQhable with fine up to rs.5/-.
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Q\?_\% Staﬁethe dlffcrencg bgtwecn 'lr}divi‘dual"Dispute and Industrial Dispute under IDA. (7)
S & St \Whiat m‘et}p“purﬁbges for which general fund of a registered trade union can be spent? (8)

TS "}h;';B"r_ing;}opf':liﬁédiﬁgrléﬁée between strike and lockout. . (8)

\j\.\ e b\Whatfis\the*Iegaistatus and role of trade union? (N

- &mbr‘xéfon rulas of medical examination of Workmen under workmen’s compensation
A T TISAFE (8)

. t;Explain ﬂwj&rovmmm of health under Factories act. (7)

 <a Distinguish between Partial and total Disablement o

S _,Tfﬁq;EﬁQﬁiéfaﬁe:'tﬁ'eﬁnn Worker and Manufacturing process under Factories act. (7

S AN SO Page 1 0f 2
\'..“ ) ; s ‘- . \ % iy @,
> T

QR $ 9FE72D2B8ADCF4B906821709A2BF6DAI

“iibinal for the adjudication of -

>



Q4.a.Summarise the different types of Benefit under the ESI Act.
b. Explain in detail the provisions relating to employees pension s&xefqe, ;

OR Fo
a. Explain the constitution of Medical Benefit Council under ESI A

% %
b. What are the obligations of the employer under the ESI Aqf»‘? '

g

Q5.a Define Wages. Explain the rules of payment of wagqé;‘;'_ mqe r*pai&ptqgwgges .Lg)_ oS
b. What do you mean by Allocable surplus’ and ‘Available Surp lus™-under pay s Act?
o e 2 T3 \ : (?) S
Q.5.Short Notes (Any 3) «15)
a. AWARD A '
b. Calculation of gratuity and paymen(gﬁi}‘éf_r;‘htﬁity .
¢. Employees deposit linked msmmiﬁ,éq& e o
d. Employees Insurance Court. FsE Rt
€. Doctrine of assumed Risk. SFE R
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